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ABC slide rule
ABC-Rechner
Calculateur ABC
Il regolo calcolatore ABC
Regla de cdleulo ABC
ABC réknesticka



The runner is your guide for calculations.

On the runner you find letters that will indicate and locate all scales.
Those letters appear below each number, in every illustrated example.
This way you will find for every number the correct scale.

Der Laufer ist lhr Wegweiser fir die Berechnungen.

Sie finden ouf dem Laufer Buchstaben, die die darunterliegenden

Skalen bezeichnen. Dieselben Buchstaben stehen unter jeder Zahl in den
gezeigten Beispielen. So finden Sie fiir jede Zohl sofort die richtige Skala.

Le curseur est votre guide pour les calculations.

Sur le curseur vous remarquez des lettres indiquant les échelles en dessous.
Les mémes lettres sont marquées sous chaque chiffre dans les exemples
illustrés. Ainsi vous trouvez pour chaque chiffre immédiatement I'échelle
correspondante.

Il cursore & una guida sicura per i Vostri caleoli.

Sul cursore sono riportate delle lettere che indicano le differenti scale e
le loro rispettive posizioni.

Queste lettere sono riportate sotto ogni numero negli esempi illustrativi.
Non vi & pericolo di sgugﬁure. per ogni numero troverete lo scala esatta,

El cursor le servird de guia en los célculos.

En el cursor encontrara letras que designan los escalas e indican su
emplazamiento.

Estas letras se encuentran debajo de las cifras en cada ejemplo ilustrade.
De esta manera encontrard la escala adecuada pore cada cantidad.

Léparen ar Er vagvisare fér berékningarna.

Pé |éparen hittar Ni bokstaver som betecknar skalorna och angiver deras
placering. Dessa bokstéver finns angivno under talen i varje illustrerat
exempel. Pa detta satt hittar Ni fér varje tal den réitta skalan.

102107 [=) —o
{A:B, A:C) (=) —»

() —fw
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Unit conversion _._r__,._l-lz

Metric - ]
Gr. BR., USA

M 0® - 20°
N arc
T tan, cot
S sin, cos, log
F ﬂ=
P a’
a a-b, a:c) (=)
b “ “ly
c [+:| ﬂf,c,
LL log-log,
1.001 - 1040




%
- u.b
ABbaA @ 3:5=0¢6
[Ex.8-5= | A Cha
|Ex.|5ﬂ:3ﬂ=
0s1

e

@® 0.03-5000 = 150

A B

- A

|_Ex. 400 - 0.06 =

@ 30:500 = 0.06
A C FA

|Ex. 20 25 = |

& 1.22.1.58 = 1.928
a b a

Ex, 4.7 - 2.5 = |




® 4.37:1.775 = 2.46

a € | e
[ Ex.8.4:19 = |
10° =
&

——

(@ 15000-200 =0.03-108 = 3.10%
A B b A D

|__Ex. 500000 -4000 =

oL

3:5000 = 6000010 =6-104
AC bPA D

[ Ex. 2:8000 = |

7400-5°, = 370
A B PA
[Ex. 450-2°], = |




@ 3.50 - 30°(, = 2.45
a b a

[ Ex.7.80-50°, = i

i 3.504 30°, =4.55
a b b a

[Ex.2.20F 13 = |

9 3.50-25°,-10%. =236
a b

C a

[ Ex. 6.20- 20°].- 30°[, = |

3 4.150=X-2000 X =03
A B A B

| Ex.15-40=X-3 X= 3|




i

@ 3:150=15:X X=750
AC A C

| Ex.60:0.20 = 150:X X=

® 30-5-40 = 6000
A BC A

| Ex.25.7.-4 = |

® 30-5:40=3.75
A BB A

[Ex.15-6:30 = |

i) 3:5:40=0.015
ACBH A

[ Ex.90:5:9=




@ 1:50=0.020

B 5
[Ex1:20= | @ 68F=X°C X=20°C ® R=9 ® 3=
U V c B =
[Ex. 86 F=X"C X= | Ex. 57 = Ex. 5% =

@ 33=1.442

r o

Ex. 3@ =

'@' 5Dkg=:ﬂ]b X=101b
U v

[Ex.61m =Xk X= ]




@ A3-5 =8.66
pb pa
| Ex. Eﬁ-4=

%

@

3FE.5 =72
r b

Ex.

a
3\’{5_3:

@ iﬂ 6.5 = 332
da P p
B 7352 =
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@& Sin 50° =0.766
M 3

| Ex. Sin65° =

G Cos40° = 0.766
M S

| Ex.Cos 25° =

G Arc-sin 0.350 = 20.5°
5 M

@ Tan50°=1.19
) T

| Ex.Tan 65" =

Gy Cotd0° =119
MoT

| Ex.Cot25° =

@9 Arc-ton 0.350 = 19.3°
T [

I Ex. Arc-sin 0.810 =

| | Ex. Arc-tan 0.810 =

@ Arc-cos L350 = 69.5°
] M

G Arc-cot 0.350 = 70.7°
T M

|_En. Arc-cos 0,810 =

| | Ex. Arc-cot 0.810 =

@) Arcd0® = 0.698
M N

@ 1.20rad =68.8°
N M

[ Ex.0.52rad =

@ Sin 0.450 rad = 0.435
N 5

@ Tani.30rad =3.60
N T

| Ex. 5in0.226rad =

| Ex. Tan 0.45rad =




@ 25 =32 @ 290 =1015 295 = 1.414
LLeb-LL LLeD—LL LLe P=LL
Fx. 372 = Ex. 390 = Ex. 30.2 =

@ Yers=5 @ =174 @ 29625 =1.0162
LL L

b —LL

b D-LL

Ex. J0/150 =

Ex. EUG\;"IS =

G “log 5 = 1.6
it

I Ex. ®log 7 =

5 ®log 50 = 3.91
ILPp—LL ¢

| Ex. ®log 20 =

11
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@& ®log 500 = 6.21
LLp—LL <
[ Ex, €log 140 = |

LLp—LL ¢

Ex. 4|D§ 7 =

LL p~LL ¢

Ex. 5"39 7=

LLp-LL ¢

Ex. 9Ing 7=




'r !
(T 4318 — 2.38
LLe
C LL

@ 2log0.05=-2log(1:0.05) = -Zlog 20=-4.32
B C

LL P~ LL

=

Ex. Olog 0.025=

Ex, 734 =

12
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@ 0.25=1:01:02¥=1:5=1:3100 = 0.00032
B C

ILe (— LL
B

C

Ex.0.44 =

@ 40F=1:4104=1.
B

4

2.5=1:1.257 = 0796
C

bLi.D'—'IEL

c

Ex. %‘"[H:




CONVERSION

SCALES
A

0.0164
0.0254
0.0283
0.0703
0.0929
0.1383
0.2520
0.3048
4534
0.5555
0.80
0.9144
1.6093
1.852
2.54
3.7833
4.544
6.4516
7.8067
16.387
28.35
36.00
48,1818
107.5140
367.098
426,65
70718
1016.0
2831.67
4046.9

u

g
kmj/h
r"k.".F'H
m
ko
kgm
kg
kg
lit
m!

°F

UMRECHMUMNGS- COEFFICIEMTS DE
FAKTOREM CONVERSION
cv
= 1 gu.in. Liter Cubic inch
= 1 mil Millimeter 171000 inch
= 1 cu.ft. Cubic meter Cubic foot
= 1 Ibfsq.in. Kilogram/sg.cm Pound/sq.inch
= 1 sq.h. Square meter Square foot
= 1 ft.Ib. Kilogram-meter Foot-pound
= 1BTU Kilo-calorie British Thermal Unit
= 1M Meter Foot
= 1 Ib. Kilogram Pound
= 1 "RANK Kelvin Rankine
— I Réaumur Celsius
= 1 yd. Meter Yard
= 1 st.mile Kilometer Statute mile
= 1 nt.mile Kilometer MNautical mile
= 1in. Centimeter Inch
= 1 U5.Gal. Liter US gallon
= 11mp.Gal. Liter British gallon
= 1 sq.in, Square centimeter Square inch
= 1 kgm/s Wakht Kilogram-meter/sec.
= 7 cu.in, Cubic-centimeter Cubic inch
= 1 oz. Gram Ounce
=1 mf0]ls Kilometer/hour Meter/0.] second
= 1 #/0.01 5 Mile per hour Foot/0.01 second
= 1 BTU Kilogram-meter British Thermal Unit
= 1 Watt-Hour Kiloegram-meter Watt-hour
= 1 kcal Kilogram-meter Kilo-calarie
= 1 US.sh.iton.  Kilogram US short ton
= 1 Brlgton.  Kilogram British leng ten
= 1 Reg.ton. Liter Register fon
= 1 acre Square meter Acre
= 1,8°C+ 32 Fahrenheit Celsius
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RESULTATS
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B3 B w0 2 0
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O (=]
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926
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ABC slide rule - DIRECT READ-QUT of Decimal point location - easy as ABC.

ABC-Rechner - DIREXTABLESUNG der Dezimalkommastelle - leicht wie das ABC.

Calculateur ABC - LECTURE DIRECTE du placement de la virgule des Décimales - aussi facile que I' ABC.

Il regolo calcolatore ABC - con la LETTURA DIRETTA della posizione della virgola dei Decimali - & semplice come I' ABC.

Regla de cdlculo ABC - LECTURA DIRECTA de la coma Decimal - tan fécil como ABC.

ABC rdknesticka - DIREKT AVLASNING av Decimalkommats placering - latt som ABC.

Rechenschieberfabrik F. Riehle KG., 73 Esslingen am MNeckar, W. Germany.
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